
2024-02-14 
 

   PAGE 1 OF 2 

- Read this document before using.
- Keep this document .
- Observe all warnings and caut ions.

NANORK 

DP7636 – 01 - DI    

     

 

Rack Mount Kit for nanoNXAMP4 

                          

 

Contents: 

x1 

 

 

x2 

 

 

x1 

 

 

x4  

M4x8 (a) 

 

 

 

 

X4 

M3x6 (a) 

 

 

 

 

X1 

 

 

 

X1 

M3x6 (a) 

 

 

 

 

 

 (a): The type of the screws may differ from the representation. 

 

Weight: 0.95 kg / 2.1 lb  



2024-02-14 
 

   PAGE 2 OF 2 

- Read this document before using.
- Keep this document .
- Observe all warnings and caut ions.

Use  

1x NANONXAMP4 rack assembly 

Mount the bracket on one side with 2 vis M4x8 (Tx20) screws. 

On the other side, mount the wide bracket with 2 M4x8 (Tx20) screws. 

  

2x NANONXAMP4 rack assembly 

Assemble as above. 

Fit the spacer with M3x6 screw. 

Assemble the second nanoNXAMP4 by inserting the spacer into the opening on the side. 

Assemble the coupling plate with 4 M3x6 screws. 

Mount the bracket using 2 M4x8 (Tx20) screws. 

  

 

 

 

 

 

• NEXO cannot accept responsibility for accidents caused by any factor other than defects in this product itself. 

• Please check the web site nexo-sa.com for the latest update. 

http://www.nexo-sa.com/

